A 37 E271%9 AAH

=g 2. YA AFQers aHdt Bz

i
ettlement

(b)

I,t\JLI

L

H

]
Settlement

(a) General shear failure (kA g3} a))
7)
(¢) Punching shear failure (&% 4 wa}2))

(b) Local shear failure (=54t

)

% Aty w4 AWsE > Fo| AUAE (r=cto'tang)




(a) AHF HA+3}3)(general shear failure)
- dense sand (Dr > 67%), stiff(OC clay)
- 42 33

- Sade] AmWA B

(b) =% At 33 (local shear failure)
- loose to medium dense sand (30%<Dr<67%)
- Sp o] AWM AXAORE HA 35

(c) ¥ A 313 (punching shear failure)
- very loose sand (Dr<30%), soft clay

- AEAAA @] g g By

- | O
General Sheal

Qo Local Shear
5
:#]
()
2
g 3l
)
o
Punching Shear
4 B
5 | | | |
0 20% 40% 60% 80% 100%

Relative Density of Sand, D,



e Limit equilibrium : o FIHS 7S & FJyH A #&gH}

FEe nwste] YL PSP

M, = (q,,Bb)(B/2)
M, = (s,7Bb)(B)+ o, Bb(B/2)

q =278, + 0,5 =6.28S, + 0,5

¥ XY F4 0 HE(gp=0)2 A, Ng=1, Nr=0 Nc=5.14

1
_> Oy =CN_; +0N, +§7BN7 =5.14c+q

P/b

\
G:D

Shear Surface

O, AEEHE ol &T FEAAY A RHEZF vivla AE)



3.3 Terzaghi & =3 XX & F4)

B

PAUSTHSILSLS q= 7Dy Jf) .

9. Terzaghi &2l Al 7F4 3+ g3 d

. A7
- D<B
- Homogeneous soil
- General shear failure
- Rigid and continuous foundation

- Soil above embedded depth serve only as a surcharge load

12w 4R Fe) AugE FA)

* Three failure zones
- 1) #7199 (Wedge Zone): B A(S 7))
- 1) WAL Agk 9 4(Radial Shear Zone): WAIA T IS Qs

- 1) A3 At 99 (Linear Shear Zone): Rankine 5§ 9 (45-¢/2)



o —L Al
-1 -

ol

SEE

ol

qult = aCNc +ﬂBle7 +7/2Df Nq
1714, Nc, Ny, Ng : A Al (& WivkEzbe 3h4)
B: 7]%9 wd o]

O EN = T IR

a, B 71 AT
A A& R A2 A
a 1.0 1.3 1+0.3(B/L) 1.3
B 0.5 0.4 0.5-0.1(B/L) 0.3

* IS EA (9=0)Q1 45 AAH A

Nec=57 Ny=0 Ng =1

(1

qu =@ 9.7C+y,D;



3.4 Meyerhof & =3+ X X8 F2

1
C1u|t = CNC ch ch I:ci + EyBNyx Fyxs F;/d Fyi + qu |:qs qu I:qi

. 2 ¢ rtang
N, =tan (45+§)e t
N, =(N,-1)coty
N, = (N, -Dtan(l.49) = ztte] we} 2o S
- Y BAZAF
B
Fa=1+0.2K, = K, =tan"(45+¢/2)

4=>10, F,= Fqs =1+0.1Kp%

V4
=0, F,=F, =1

. go] BAAZ

D
= =1+0.2,/Kpgf

D
4>10, Fq=F4=1+0.1/K, Ff

=0, F,=F, =1

« BAeHS BAAS



3.5 AxF e BA

D Ast9 BA

RS

Dy D,
B

—— B d| p—m]

L R v A — :

d T A

(2)

R e Lo
= A58

(1)

28, Astgle] BE BelFge] uy

O d>B: dAFTZF
_ d
@0<d<B : 7/:7/sub+_(7/t_7/sub)

B
®0<D <Df : #=u93xzg q=yD +7,D,



2) HAlsls XA

F‘“*’" M

__H*______‘
(a) e < B/6

B Q 6e
D e< 5 qmax,mm BL[ B j
B
@ e=— =0
e 6 qmln
B 4Q
® = =0 O
"7 rin =0 4 3L(B-2e)
« FrawH

47414 Fes, Fys, Fgs 1 B', L' A&
Z oA Fed, Fyd, Fad : B, L A&

(b) e > B/6



3) FE AU AS
2,
3

¢'=tan™ [ tan¢j =

3.6 ®A7]% (floating foundation)

« ZH 58 I TEE stes Anko] Y WA fFastsRu A
stomm AL oAty AXES A= g
o AZnietdol $Ho] FAH ] EA|Hlo] WY Syl FAfAEE

SHAETA 23, S K EE YV A8 AA

Q
qp :X_ny =0
AN, Q= FEE B%

A= 7]|% vj=ad A

M ERE S |



3.7 @A 93 AAY
1) BaAsAE

o FRAAFH = FH3=F /2.0 == F3st=E /3.0

« 27|57
(a) AE A5k @ XA qfooting = qplate

S -5 Bfooting
218} P footing — 2 plate B

plate
. Bfooting
(b) AFRE A]wl . qfooting - qplate X B ,
plate
2
S _ S ZBfooting
footing — “ plate X B B =
footing + plate
2 2
B, | (B,+0.3
Sfooting = Splate X Bp Bf +03
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2) SPT A&

« 774 Meyerhof "9 : Hd s 25 mm 714

- qu =19 N Ky (kPa) for B< 1.2m

+0.3

B 2
~ Oy =12NKd( ) (kPa) for B> 1.2m

1714, N = Bg% N gk
D

K, =1+3—B for D<B
Ky =13 for D>B
3) CPT A8
- AHEZ A&
- 29%lol Im 9 & 71x9 FEAAH qu=0.1 deone
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